
Дано: j=120Å, w1 =62,7 рад/с, ε1 =152,6 рад/с 2,
FB =2993 Н, FC =3957 Н, m1 =123,2 кг, m2 =m4 =0,8 кг,

m3 =0,6 кг, m5 =1 кг, JS1 =4,22 кг•м
2, JS2 =JS4 =0,21 кг•м 2.
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Звено 5

1). ∑M (3)
B =0, F30 •h1 =0

             h1 =0 м; 
             M30 =0 Н•м

2). ∑M (2-3)
A =0, F30 =1119,1 Н
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С =0, F50 •h7 =0
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             M50 =0 Н•м
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10). ∑F (1)=0, F12 +F14 +G1 +F10 =0 
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jij Å 105 157 155 45 58 55 315
Mij Н•м 195,3 - - 0 - - 0
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Дано: j=120Å, w1 =62,7 рад/с, ε1 =152,6 рад/с 2,
FB =2993 Н, FC =3957 Н, m1 =123,2 кг, m2 =m4 =0,8 кг,

m3 =0,6 кг, m5 =1 кг, JS1 =4,22 кг•м
2, JS2 =JS4 =0,21 кг•м 2.
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